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1 The diagram below shows part of the micrometre screw gauge.
What is the reading shown in the diagram?

3
}\H}j!llﬂ!lll‘ll

l%!!{lii

A 6.69 mm
6.86 mm

. 6.68 cm

.68 mm
2 The ime graph for the motion of a trolley is shown below.

V /

v

0 10 zol 0 s

What distance did the trolley tr. there was no resultant force acting on it?
A 200m
B 320m
C 400m
D 520m
4
3 Which of the following quantities changes when abody i§jaccelerating?

A Mass of the body.

B Weight of the body.

C Velocity of the body.

D The force acting on the body.

4 To find the density of a liquid, a pupil noticed that 90g of the liquie occupi€d the
same volume as 114g of water of density 1000kg/m3.
What was the density of the liquid?
A 0.79g/cm3
B 1.27gcm3
C 2.04g/cms3
D

4.90g/cm3
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A number of forces are acting on a body as shown in the diagram below.

11\24N

13N 10N

v 20N

What is the magnitude of the resultant force acting on the body?

ON
3N
N
12

A toy C%GOOQ moves through 6m in 2 seconds.
The average kinetig.energy of the toy car is ...

0.0273
0.273

2.73

66.67] YN

The diagram below show,cl' ed plane used to lift a load of 2000N.

A

)

100m

50m
2000N
4
What is the velocity ratio of the inclined plane as a simpl@ machifie?
40.0
20.0
2.0
0.5

B
C
D

Which of the following processes shows that particles of matter are in a rand
motion?

A

B
C
D

A small drop of oil spreads into a large circular patch on water.
Particles of smoke are seen to move haphazardly.

Bromine gas spreads slowly into a vacuum,

Particles of smoke are seen to move in one direction only.

Science/5124/1/22015 [Turn over
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12

13

Which of the following describes the difference between x-rays and gamma rays?

A Gamma rays and x-rays have different sources.

B Gamma rays travel faster than x-rays.

C Gamma rays have a longer wavelength than x-rays.
D Gamma rays do not affect photographic films.

A ripple tank with a vibrator hitting the surface of water with a frequency of 60Hz
produces 10 complete waves in a distance of 15 cm.

What is the velocity of the water waves produced?

A 0.9m/s

9m/s
90my/s

900m/s
n a sdund wave passes through air, the particles of air ...

perpendicular to the direction of the wave.

A
B scl rallel to the direction of the wave.
C oscillatefip and down
D do no . §
A ray of light from a l( is directed on one side of a parallel sided glass block.
A C D
) 2

s aall

Which diagram shows the path of the ra

hrough the glass block?

The diagram below shows a soft iron rod pla side a solenoid connected to a
d.c supply. The ends of the soft iron rod are'Marked X and Y.

x ¢
5 &
c )
%
- D
¢
c LD
c LD
& s -
Y
When current is switched on which of the following occurs?
A X attracts pieces of iron filings.

B X becomes the South Pole.
C Y becomes the North Pole.
D Y does not attract pieces of iron filings.

Science/5124/1//2015
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The diagram below shows a charged polyethene rod which is moved near to end
R of a metal sphere mounted on an insulating stand?

Polyethene rod R S

Insulated stand
Which of the following shows the correct charge distribution on the sphere?

B C D
R.S R.S ROS

c¢harge of 60c around a circuit at a constant rate in 20 seconds.
flawing in the circuit?

A 80A
B 40A L N

C 3.0A

D 0.3A

A heater is connected to a 200V stipply A

If the heating element has a resiSta 10Q, how much electrical energy is

supplied to the heater in 2 minute

A 800 000J]

B 480 000J

C 8 000]

D 4 000]

The diagram below shows an ideal transformer whichds s with an

alternating voltage of 240V and a current of 1A.
If the secondary current is 5A, what is the secondary volt

1A 5A
c D)
! S
cf 240V S a o
= ) c/j____.._j

A 1400V
B 1200V
C 240V
D 48V

Science/5124/1/22015 [Turn over
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18 What is the purpose of X-plates and Y-plates in a Cathode Ray Tube?

20

21

22

X-Plates

Y-Plates

Deflecting electrons horizontally

Deflecting electrons vertically

Deflecting electrons vertically

Deflecting electrons horizontally

Deflecting electrons vertically

A
B
C Accelerating electrons
D

Deflecting electrons horizontally

Accelerating electrons

Which of the following radiations is NOT deflected by an electric field?

A Alpha

B Beta
amma

roton

’ 90
T ioactive nucleus
38
Which of @
90 90
A Sr—-> + B
38 3
90 g ‘
B SF sl Y +v
38 38
90
C Sr—»->90Y + B &
8 40
90
D Sr— 2y 4 B
38 39

Srstrontium undergoes beta decay.

wing is the correct nuclear equation?

Which changes occur when a liquid at 50 ecomes a gas at 120°C?
Separation of Energy of particl Attractive force
particles o] b en particles

A decreases increases ecreasgs

B | decreases decreases i

C increases increases decre

D increases decreases increase

Of the techniques below, which one can be used to separate cellular

blood from blood plasma?
A  Centrifugation

B Chromatography

C Distillation

D Filtration

Sclence/5124/1//2015
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Element X has an electronic configuration 2, 8, 8, 1 while that of Yis 2, 8, 6.
Which one of the following is true about the compound formed between X and Y?

A Covalent compound of formula X,Y.
B Covalent compound of formula XY,.
C Ionic compound of formula XY,.
D Ionic compound of formula X,Y.

ich one of the following contains a set of three elements?
Argon, Lime, Water,

otassium, Graphite, Nitrogen.

ilica, Oxygen, Hydrogen

D ogpdl, Petrol, Alcohol
How many %there in 6.0g of carbon atoms?
A 3 X

B 6 x 10%
c 1.2 x 10*
D

6 x 10*

Calcium carbonate, CaCOs co??ccording to the following equation;

Cacos(s)—mgL" Calg) + COyy)

What volume of carbon dioxide, me@c atemperature and pressure is
produced when 50.0g calcium carbona e%m osed?

A 12.0dm3
B 24.0dm3
C 48.0dm3
D 120dm3

Ethane C;Hg burns in oxygen completely according to thé’balanced eguation
below. 4

aCHs +b0O, —>c CO;+ d H,0
Which of the following sets of coefficients balances the equation corre @

a b c d
A 1 85 2 8
B 1 7 4 5
C . 7 4 6
D 2 3.5 4 6

Science/5124/1/22015 [Turn over
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28

30

31

32

33

In the Periodic Table hydrogen (H) is not placed in any of the Groups.
Which of the following is the best explanation for its position? It ...

A has no neutrons.

B is the lightest of all the elements.

C has properties of both Group I and Group VII elements.
D

has only one electron in its only single energy level.

One physical property of all metals is that they are all ...
A hard with high melting points.
reactants forming coloured compounds.

never found native.

ood electrical conductors.

its the metal and its ore from which it is extracted?

Ore
A haematite
B ﬁaematite
C bauxite
D

Which ions form the ne Iﬂtion when aqueous solutions of ethanoic acid
and sodium hydroxide reac et

A Ethanoate ions and sodill
B Ethanoate ions and hydroxide i
C Hydrogen ions and hydroxide ions.
D Hydrogen ions and sodium ions.

A solution of pH less than 7 is ... ¢
A acidic.
B amphoteric.
C basic.
D neutral.
Which one of the following salts can be suitably prepared by precipit method?
A BaSO4
BaCl,
C Ba(NOs),
D Pb(NOs),

Science/5124/1//2015
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Which one of the following compounds contains two elements essential to plant
growth?

A Ammonium nitrate
B Potassium nitrate
C Potassium sulphate

D Sodium phosphate

The diagram below shows processes that lead to manufacturing of ammonia.

Substance W Cracng Hydrogen
Catalyst |  Ammonia
Y
fractional :
stagge X [gitillation | nirogen

w of the following identifies W, X and Y?

Q=

OO wW >
z
) O =
E =

Vanadium (V) oxide
Oil Air Iron

A

Air Oil ?m (V) oxide
Consider the three stru r@d I II and III.

H

p 4

H H
RN

—L
i

H—C—C—H
H

-

l [
H H

II1
Which of the above structures are isomers?
A I and II only
B I and III only
C IT and III only
D I, IT and III

Science/5124/1/22015 [Turn over
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37

38

39

40

The test results on compound Z are shown below?
Test Result
Addition of bromine solution | Bromine is rapidly decolourised

Addition of sodium carbonate | Carbon dioxide gas is produced

Which of the following compounds best fits the above descriptions?

H E !H ! HC//O H *2: g w O H
t ? § NO—H Ik T
H H H H H H

A B
o) H H
AN ] J 0
/c_-cmc'[_—c//
o) | N O—H
H H” Cl) “3
H H
D
A polymer has ure §hown below
A | J
T A et
H i H ; H 0

What is the molecular formula of t} @ er?

A CyHq4

B CoHs

C CsHe

D CsHg

L 4

Which compound is formed by reacting ethene with §team i§ the presence of hot
phosphoric acid catalyst?

A Ethane
B Ethanol
C Propane
D Propanol

Which of the following processes involves formation of small molecules fg@m large
molecules?

A Formation of starch from glucose.
B Polymerisation of ethene.

C Hydrogenation of ethene.

D Fermentation of sugar.

Science/5124/1//2015
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